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Booklet A

Instructions to Pupils:

1. Do not open the booklets until you are told to do so.
- Follow all instructions carafully.

- This paper consists of 2 bookiets - Booklet A and Booklet B

Answer Sheet (OAS) provided using a 2B pencil,

- For questions 29 to 41, give your answers in the spaces given in the
Booklet B.

2

3

4. For questions 1 1o 28 in Booklet A, shade the correct ovals on the Optical
5

* This booklet conslsts of 20 printed pages (including cover pags).
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For each quéstion from 1 to 28, four-options are given. One.of them is the- correct
answer, Make your cholce (1, 2, 3 or 4)..Shade the correct oval (1,2, 3or4) on the
Opticat Answer Sheet. _ (56 marks)

1.  Whichof the following statements is true for all insecls?
(1) They have talls.
{2) They have wings.
{3} They have gight legs.
{4) They have three body parts.

2. Which human body system Is shown in the diagram?

(1) skeletal system

{2) muscular system
(3) circulatory system
(4) respiraiory system



3.

Which animal has a pupal stage in ﬁé-lifé cycle?
(1) frog

{2} chicken

(3) bulterfly

{(4) grasshopper

The diagram shows the fifs cytle of a piant.

What is the stage marked Y?

(1) egg
(2) seed
(3) adult plant
(4) young plant
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5.  Which of the following objects is not made of waterproof material?

1 (1) A kettle - (2) A pair of glasses.

8. Object Awas atiracted to a magnet as shown in the figure below.

magnet
object A
Object Ais made of ___
(1) Iron
(2) wood
(3) plastic
(4) aluminium
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7. Lookatthe piciure below,

Which of the Pllowing explains why Sue can se the book on the table?

” _Offight }

(2)

@ )




The sei;up below shows light shining on a wooden cube.

—

torch

s

wooden cube shest

Which of the following would likely bé seen on the screen?

y

H

2)

i(3)

i@

Which of the following is not a source of heat?

(1) A lighted buib

{2) A woollen cap

{3) The Sum

4) An électric oven that has been
switched on for 20 minutes

s -
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10 Yisoff bolled some water in the pot shown below.

11,

mhb‘er handles |

He is able to hold the pot of bolling water using the rubber handles without

iniuring,_ﬁis hands. This is because rubberis a

(1) strong material

(2} flexible materal
(3) poor conductor of heat
{4) good conductor of heat

Study the classification table below.
GroupA T GroupB
Fish | ~Mould _
Bird L Mushroom
Repﬂla _‘ Bimfs Nest Fem

Which.of the ful!owmg are the comect headings for Group A and Group B?

) Group A Gmup B
(1) |  reproduce ‘by eggs { reproduce by sporas
2) ‘reproduce by eggs I reproduce by seads
(3) animals non-ﬂnwenng plants
@ | animals : fungi
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12,

13.

Which of the following life cycle is not comrect?

_ 2y
adult ;{ ‘

N

young e————— ©88

3 eqg @

adult < PUPA

Sue Aimade a record of information on the life cycle of a mealwerm bestte and

a frop.
n_uasﬂoné T Mealworm | Frog-
: , _ ‘heetle
- X [Doesitiay eggs in the water? ' No No
Y | Does It have 3 stages in its life cycle? No Yes
TZ | Does the young resemble the adult? No No

Which of the following shows the comect information about the two lifa. cycles?

(1) -Zonly
() Xand ¥ only

{3y Yand Zonly

() X, YandZ
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| 14. Ja;van gsaw two frults ha
from other fruits. There

Javan wanted to find out which’

nging on a branch of a plant. The fruits looked differ’ant‘
are two parts, A and B, as shown in the diagram below.

parts; A or B, will germinate to grow into a

seedling.
Setup Part Condition
P A only  water
Q B only no water
L R’ — Aonly no water
8 B only water

Which of the following set-ups should Javan choosa for his experiment?

(1) PandQ.

(2) Pands
(3 Rands

@) QandR
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15.

16.

The diagram below shows the developmental stages of the giant panda. Giant

pandaisa mammal.

Which of the following animals has the same number of stages in its life cycle
as the giant panda?

(1) butterly
{(2) mosquite
(3) cockroach
(4) mealworm bestie

Four pupits conducted an experiment on the growth of a bean plant and
recorded their observations in the table below.

f ) | Length of shoot (cm) | Number of leaves
0 0
3 1 0 0
5 4 2 2
7 8 4 4

The four puplis made the following statements.

Alex; The shoot stops growing after Day 7.

Bemice:  The plant can make its own food from Day 5 onwards.

Calvin: The plant doss not need any food before Day 5

Devi: The roots grow before the growth of the shoot to take in water.

Which pupils made the correct statements?

(1) Alex and Bemice
{(2) Alexand Calvin
{3) Bemiceand Calvin
{4) Bemice and Devi

10
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RIA

All carvied out an experiment on thres similar slices of bread, A, B and C, under
different conditions.. He kept the slices of bread on g table in the Kitchen,

“Bread | " Conditions

A" [ Wany drops of water sprinkiod on e

8 No water sprinkled on it..

c ?ewdmps-pf‘wate;spﬁnﬂadon (.

He observed the three siices of bread for black spots over ten days and plotied the
results n the graph.

Area of black spots (cm?)
N .

Number of days
Which of the following best represents bread A; B-and C7

X \ Z
M A B C
@& c B
(3) B A C
@[ B C A

11
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18.  Paul pasted three been seeds on a woo&an strip on three posiiions.
completely In water, partially in water and in air, After fow days, he made the

-observations as shown below.
wouoden strip
seed In alr
seed partially in water
water
seed in water

Based on Pauls observations, what conclusion could he make?
(1) Germination-needs air only.

{2)  Gemmination needs water-only.

{3) Gemminaiion needs both air and water.

{4) Genmination needs air, water and wamnth.

12



19.

20.

Suzy kept some cockroaches in
encugh alr, food and water for the

an enclosed contsiner. The container had

of cockroaches over a period of time,

#

35
30
25
w0l
1
10,

5

Number of cockroaches

cockroaches, She then racorded the number

Weeks

3 4 5

L 3

Which characteristics of iving things does the graph show from Week 4 fo 67

(1) Living things can die.
(2} Living things can grow.

(3) Living things can reproducs.

{4} Living things can respond to changes around them.

The properties of three objacts are shown In the table below.

' ' Object
Property Motal Koy Ceramic Mug | Plastic Bail
X Yes Yeos No
strangth Yes Yos No
flexibility No No Yes
Which one of the following best represents property X2
{1} waterproof
{2) transparency
{3) ability to sink
{4) abillity to float

13

BP~783




- 2

22.

Simon used a magnet and moved it near three objects, S, T and U, which are
made of different metals.

magnet X Yl — object

He moved the magnet near the object and recorded his observations in the
table below. -

Ohjects _ End X EndY
- atiracted | repelled
T attracted attracted
U “nothing happened | nothing happened

Based on his observations above, which of the following statements is correct?

{1) Object T is magnetic.

{2) ObjectUisamagnet.

{3) Object S is non-magnetic.
{4) Both § and T are magnets.

Matter Is anything that has mass and occuples space. Which of the following

~ is not matter?

{1) air

(2) mik
{3) tght
{4) sugar

14
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23. Studythe diagram below,

Based on the information given above, which of tha following is corract?

. Matﬁer
I _
 E— . ) N
_Definite Shape ' NoDefinite Shaps
oo ‘ i '
i o |
Definite Viiurne ‘No Definits Volurne
] 1
A B c|

A B Cc
air -water marble
water marble air |
marble air water
-~ marble ‘water . air

15
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24. Sif conducted an experiment in a dark room using the set-up below. She saw
-a dark shadow of the statue on the screen.

statue

torchlight

Which of the following Is comect if she wants to get a bigger shadow?

{1) Move the statue nearer to the screen.

{2) Move the statua nearer to the torchlight.

{3) Move the screen nearer to the torchlight.

{4) Move the torchiight further away from the statue.

16
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26. The diagrams below show the shadows of a eylinder at different times of  clear”
and sunny day.

2 hours — 2 hours:
later - later
, I

What will the shadow of the most like
cylinder

ly look like after another 2 hours at Y7

_lm | (2)

17
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26. A miroris placed at a comer along the classroom corridor fo prevent studants
from colliding into each other when they go around the bend as shown in the

diagrar below. .
mirror

Student A Student B

Which properties of light is/are shown in the above diagram?

A: Light travels in a straight lina.
B: Light can be reflected by mirrors.
C: When light is blocked, a shadow is formed.

{1) Aonly

{2) AandBonly
(3} Band Conly
(4) A BandC

18



27,

There are four beakers of water as shown below.

Which beaker of water has the greatest amount of heat?
M A
(2) B

(3 C
4y D

18
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28. 2ul placed a glass in the refrigerator for an hour. He then took the glass out and
sealed the top with:a plastic wrap. He placed the glass ina bowl and poured
hot water into the bowi as shown below. ) .

plasﬁc wrap

glass

- ..

' hot water )
bowl ‘

He observed that the plastic wrap was pulled inwards once the hot water was
added .and after five minutes the plastic wrap was pushed upwards. Explain

why.
Explanation
Once hot water was added After five minutes

{1y | The plastic wrap contracted. The plastic wrap expanded.

2) The glass expanded more than | The air in the glass expanded more
) | the airin the glass,  {thentheglass.

5 The airin the glass expanded “The air in the glass expanded more
3 more than the glass. than the giass.

4 The giass expanded mora than | The plastic wrap expanded mors
4 ‘the akr in the glass. , . than the glass. N

(Go to Booklet B)
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For questions 29 to 41, write your answers in this 'book!-at.' {44 maﬁcé)

20. Lookat the diagram below,

snail

> leaf

(a8} The snail needs air, food and ta stay alive. [1}

(b)  The snail eats leaves and becomes bigger after some time,

This shows that it can ‘ (13

30. The diagram below shows the stages in the life-cycle of a grasshopper.

(a) Namestage X. ' )]

(b)  State one other animal ihai has a similar life cycle as a grasshopper. [1]
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31 Tiok(¥)in the box f oach of the foll

ng has a definite shape andfor a definite

volume. _ | B
“Has adefinite | “Has a definite
. shape . volume
{a) | tea - ]
(b) [ Plastc oup
©) | wind
32, Look at the picurss, Tick (¥} the sources of light. [

G

Q32 is continued on the next page.
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(_b} Leena shines a torch ona 'baﬂ_ and a shadow is formed on a smooth wall.

torch ball wall

by an object. 1]

{) A shadow is formed when light is

(i) Draw the shadow of the ball thaf Is formed on the wall. i
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33.

(@

(b}

{c)

B

Look at the diagram below,

Label the parts, C and E, in the boxes below. 2]
C:
‘State the function of part B, 1]

Basad on the diagram above, state the paris, A, B, C, D andfor E, where
digestive juices are produced. 1]
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34. Guna had some butterfies and plants in an enclosed ar_éab The plants were
watered daily, No new organisms were added orremoved,

plants

He then observed and recorded what happened in the enclosed area for two

waeks in the table below.
Day N Observation
1 | Many tiny eggs were observed at the underside of
| the leaves. -
[ Green organisms hatched from the eggs. They

started eating the leaves and growing in size.

70 | The green organisms stopped moving and eating.

T4~ [There was an inarease In the nurber of butterfies i
| the enclosed area.

{a) Name the stage of the life cycle that the green organisms are inon Day 8. [1)

{b) Whywas there anincrease in the number of butterflies on day 14?7 il

{c) If Guna removed all the plants in the enclosed area on Day 6, what would
happen to the number of green organisms on Day 107 Give a reason for your
answer. 2)

BP-796



@

(b}

(c).

Josiah placed 15 identical sseds In four Identical pots, K, L, Mand N. The pots
wers placed at different locations. The seeds were watered with the same
volume of water daily. He then recorded the number of seeds that germinated
in each pot after 3 days in the table below, : '

Pot Tomperature of - Number of seads
swroundings (°C) germinated after 3
days
K 10 1
L 20 g
M 30 ' .14
N 40 , ' 0
Based on the fable above, what Is the aim of Josialvs experiment? [1]

Based on the information above, what is the most suitable temperature for the
seeds to germinate? M

Whan the temperature of the surroundings is 40°C, no seeds germinated.
Explain why. [1]
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38. The araph below shows how part W and part Z of a seed changes theirmasses
as the seed genninates Into a seeding.

Mass (0)
4 ‘ - W
ﬁ~ " [ e T " ¥ T g ) ]
0 2 4 B 8 10- 12 Days

(8) Based onthe graph above, identily the parts, W and Z, by filling in the correst
hoxes below with the lstfers. (1]

Part

Different volumnes of water were given 1o three seedlings of the same kind, A, B
and C, each day. The heights of the seedlings wera measured after two woeks
and the results are shown in the table below.

Seediing TATB ]
| Volume of water given (mh 10 ] 200 | 30
Helght of plant {cm) 7 | 9 | 13

Based on the abova experiment, identify and gircle the correct. type of
varkables. [2]

(o) (i) Type of seedlings - same fchanged /measured
() Volume of water given:  same/ changed / measured

(¢) State the relationship between the volume of water given and the height of
plant. , i
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37. Shanti wanted to find out the effect of soaking seeds on seed germination. She
soaked 50 seeds for different durations and counted the numbar of seads that

‘germinated as shown in the table beiow.
Duration the seeds are soaked in water Number of seeds
: before germination (hour) _germinated
12 | 40
18 42
24 43
30 40
38 38
42 3
45 30

{a) What would happen o the mass of the seeds after soaldng in water befors
germination? Explain why., o
{1

(b) Describe the effect of soaking of seeds from 23
(i) & hours to 24 hours:

iy 24 hours to 48 hours:

(c}) What would be the first observation to show that the seeds have germinated?
. 1




The picture below shows a glass of ice water.

38.
{(a) Fillin the blanks using the comect word in‘the box. AJ
| sotid | fiquid ' ~ gas
(i) fes : ___state
iy water : _ state

(b) Audrey filed Container Y, which has a volume of 250cm?, to the brim with
sand as shown in {he diagram below.

Sirtees Y AT
£y dﬂ?\ht‘*\ﬂ
B SRR
[ CELLele.
AR ] %! *

However, Audrey said thaf the volume of sand in Container Y was actually
tess than 250cm?.

Explain why the volume of the sand was less than 250cm?. P4

BP~800
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(a)

Dennis shone a forch at Materisl A and used the light. sensor 1o record the
amount of light reflected by the material as shown below. '

&
torch

light sensor connectad to data logger

He repeated this using different materials, B, C ang D, one at a time. He then
recorded the results in the table below.

Typé of material Amount of light réﬂet:tedi {qu}'
" A S 2000 |
B | 10
D | 50
Based on the experiment above, identify and tick (v) the cormect typs of
variables, ' [2]

_Same__ | Changed | Moasured
[ (i} Type of material 1 . -—easiied |

! (i) Intenstty of light

(i) Distance between forch and
- material

(VYAROURE of Tght refisetad

Q39 Is continued on the next page.

11
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{(b) Dennis wanted to design clothes for a food delivery company. ltis important for
food delivery riders to wear ciothes that enable others to see them clearly at
night. : |

Based on the results above, which materials, A, B, C or D, ia the most suitable
to make clothes for a food delivery rider to be seen clearly at night? Explain

why. 12]

12
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40. Amy placed equal amounts of wax, A, B and C, around an iron ring. Then she
Placed a candle at ene part of the iron ring as shown balow. '

(8)  Which piace of wax, A, B or C, wil take the tongest time to melt? Explain why.[1]

(b} Amy repeated the same experimentbut she replaced the lron ring with a copper
ring of the same thickness, '

Put a tick (v} in the box to identify the aim of the experiment. [1]

| To find out how the position of wax affects the melting ime of the wax.

] o find out how the thickness of the ting affects the melting time of the wax.

To find out how the material of iHie ring affects the mefting time of the wax.

Q40 is continued on the next page,

13
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‘(c) Amy decided to conduct another experiment using the similar rods made of
different materials, A and B. She heated the rods for twenty minutes each a8

shown below.

Rod made of material A Red made of material B
She recorded the length of each rod before and after heating in the table betow.

Materfal of rod | Length before |  Lengthafter
heating (cm)_ | heating {cm)
A 20 23
B 20 21

Basead on the table above, what is the difference in the results? Glve a reason
for the differencs, 2]

14
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Mr Rajfu sst up a campfire to cook kis food In a melal pot during a camp. He
also hiad a cooler box to store cold drinks as shown balow, ' :

Tick (') the correct box to identify whether the itemis a pooror good conductor

of heat. Support your choice with a reason, C

| tom Type of conductor of Explain how the property

_heat (Please tick) ___heips

Poor conductor
of heat

{Good tonductor
of heat :

Poor bdnductor
of heat

Good conduclor
of heat

End of Paper

15
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Pg1

BP-807




b) To push food down from the mouth to the stomach.
c)A,C,D

Q34)

a) Larva

b) The pupas grown into butterfly so that there was an increase in
the number of butterflies.

c) The number of green organisms would decrease on day 10 as
there is no food so the number of green organisms would

decrease.

Q35)

a) To find out if the temperature of surroundings will affect the
number of seed germinated after 3days.
b) 30°c

c) The temperature was too hot for the seeds to germinate.

Q36)

a)

b) i) same

ii) changed

c) The more water given to the plant, the higher the plant will grow.

Q37)

a) The mass of seed increases, the seeds absorb water.
b) i) Number of seeds germinated Increases.
ii) Number of seeds germinated decreases.

¢) The roots grow first.

Q38)

a) i) solid
ii) liquid
b) There are air spaces between the sand, air occupies space.

Q39)

a) i) Changed
i} Same
iit) Same
iv) Measured

b) A. As itis able to reflect the most light so when cars are driving
behind him at night, the person in the car will see him and not
crash into him. :

Pg2
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3) B. As it 1s the farthest away from 17 candie s it will take the

Q40)
longest time to meit.
b) M To find out how the material of the ring affects the melting time
of the wax.
c) Material A is fonger than B after heating, Material A expands more
than B.
Q41)

Good conductor It allows heat to transfer faster..
of heat

Poor conductor of | It allows heat to travel slowér from the

heat surrounding to the drinks.

Pg3
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